N AT e RS R
X E T A E O E % W B4
Wz s a0 o alTR e | RO R g | T | TREEI RIS
A[0]|2]0]|2 | RO3 3 4E | R06.12.31 | FEZE |wmmsrexor| RO3.01.01 | R04.01.01 | %
A[0]|2]0]|2 | BB R04 3 4F | RO7.12.31 | BEZE |#me=veaob| R04.01.01 | RO5.01.01 | #K
A[0]|2]0]|2 | BB R05 3 4F | R08.12.31 | BEZE |#mm=veaob| R05.01.01 | R06.01.01 | #K
A0 204|550 /kRERRE RO5 1 4F | R06.12.31 | BEZE |wmexveior| R0O5.01.01 [ R06.01.01 | %
Al0|2]0]|6|XETFAVEHE fAF BT E ST LA F—x
Al0| 2| 1|5 |ScEpEE-BE#E RO1 54 | R06.12.31 | BEZE |wmexrcior| H31.01.01 | R02.01.01 | &
Al0o| 2| 1|5 |ScEpEE- -BE#E R0O2 54 | RO7.12.31 | BEZE |wmexrcior| R0O2.01.01 | R03.01.01 | &
A0 2| 1|5 |CEREE -BEHE RO3 5 4F | R08.12.31 | BEFE [wawsvrexosk| R03.01.01 | R04.01.01 | &
A0 2| 1|5 |CEREE -BEHE RO4 54F | R09.12.31 | BEFE [wawsvrexosk| R04.01.01 | R0O5.01.01 | &
AlO| 2] 1|5 | CERERE-BEHE RO5 54F | R10.12.31 | BEFE [wawsvrexok| R05.01.01 | R06.01.01 | &
Alo|4]0]|1 maaB?Mfﬁ RO3 34 | R06.12.31 | BEZFE |#mexveior| R03.01.01 | RO4.01.01 | #
Al0|4]|0|1|&iEBERE RO4 3 4 | R0O7.12.31 | BEFE |#mexvcior| R04.01.01 | R05.01.01 | &
Alo|4]0]|1 mgaB?Mfﬁ% R05 3 4 | R08.12.31 | BEZFE |#me=veiob| R05.01.01 | R06.01.01 | #
Al0[4]0] 2 |iERERE RO5 1 % | R06.12.31 | BEHE [wmexvexor| R05.01.01 [ R06.01.01 [ #K
A[0]|5]0]| 2 |fh R BILRER (—F5) RO5 1 47| R06.12.31 | BEFE |waexveior| R0O5.01.01 [ R06.01.01 [ #E
Al0|5]0] 2 |fBEREBILRMK (RERDOELEZFE ) RO5 1 4% | R06.12.31 | BEFE |waexveior| R0O5.01.01 [ R06.01.01 [ #E
Alll2]0]2|ECE EEORINC S I BREE |wmererr il H
Al2]10]|0]| 1| NFEERBEER H13 30 4 | R13.12.31 | BE3E |wmesreioh H14.01.01 | #&
Al 2[00 1| A= FLEhimEnEHR H14 30 4F | R14.12.31 | BEFE |wmexreiot H15.01.01 | %
Al2[0(0] 1| A= FLEhimEnEHR H15 30 4F | R15.12.31 | BEIE |wmexreiot H16.01.01 | %
Al2[0(0] 1| A\GFFEhmEER H16 30 4F | R16.12.31 | BEIE |wmezreiot H17.01.01 | &




A[2]10]0 1| AR H17 30 4F | R17.12.31 | BRHE |mmirevexon H18.01.01 | &
Al2]10]0| 1| AR H18 30 4 | R18.12.31 | BEHE |mmervexon H19.01.01 | %%
Al2]10]0| 1| AR H19 30 4F | R19.12.31 | BEHE |mmervexon 120.01.01 | %%
A[2]10]0| 1| AR H20 30 4 | R20.12.31 | BEHE |mmervexon H21.01.01 | %%
A[2]10]0| 1| AR H21 30 4 | R21.12.31 | BEHE |mmervexon 122.01.01 | %%
A 2[00 1| A= FEhimEnEHH H22 30 4F | R22.12.31 | BEEE |mmmsrriob H23.01.01 | %%
A 2[00 1| A= FEhimEn T H23 30 4F | R23.12.31 | BEEE |mmmsreiob H24.01.01 | %%
A 2[00 1| A= FEhimEn T H24 30 4E | R24.12.31 | FEZE |wmervesor| H24.01.01 | H25.01.01 | #%
A[2]0]0| L | ASFRBh @M ER H25 30 4F | R25.12.31 | BEHE |wmesreaok| H25.01.01 | H26.01.01 |  #%
A 2[00 1| A= FEhimEn T H26 30 4 | R26.12.31 | FEZE |wmervesor| H26.01.01 | H27.01.01 | #%
A{2(0(0] 1| A= FEhimEn T H27 30 4 | R27.12.31 | FEEE |wmervesor| H27.01.01 | H28.01.01 | #%
A 2[00 1| A= FEhimEnEH H28 30 4% | R28.12.31 | BEFE |mmexvexor| H28.01.01 | H29.01.01 | #K
A 2[00 1| A= FEhimEnEH H29 30 4% | R29.12.31 | BEFE |mmesvexor| H29.01.01 | H30.01.01 | #K
Al 2[00 1| A= FLEhimEnEHH H30 30 4% | R30.12.31 | BEFE |mmexvexor| H30.01.01 | H31.01.01 | #K
Al 2[00 1| A= FLEhimEnEHH RO1 30 4% | R31.12.31 | BEFE |emexvexor| H31.01.01 | R02.01.01 | #K
Al 2[00 1| A= FEhimEnEH R0O2 30 4% | R32.12.31 | BEFE |amexvexob| R02.01.01 | RO3.01.01 | #K
Al 2[00 1| A= FLEhimEnEH RO3 30 4F | R33.12.31 | BEZE |emesveaor| R03.01.01 | RO4.01.01 | #%
Al2[0(0] 1| A= FLEhimEnEH R04 30 4E | R34.12.31 | FEZE |wmwrvesor| R04.01.01 | R05.01.01 | %
Al2(0(0]| 2| nEREERE H16 30 4F | R16.12.31 | BEHE |wmmsveiot H17.01.01| %%
Al210|0|2|nEtEEHE H21 30 4F | R21.12.31 | BEFE |wmexreiot H22.01.01 | &
Al[2]10|0|2|nEtREH H26 30 4 | R26.12.31 | BE#E |mmervexor| H26.01.01 | H27.01.01 | #%
Al210]|0]|2|EiaeE H27 30 4 | R27.12.31 | BEZHE |wmesvexor| H27.01.01 | H28.01.01 | #K
Al2(0|0]|2|nEREERE H28 30 4 | R28.12.31 | FE#E [mmewrsor| H28.01.01 | H29.01.01 | #%




Al2]0]|0|2|EfEEHE H29 30 A | R29.12.31 | BEFE |wmervexor| H29.01.01 | H30.01.01 | #K
Al2]0]|0|2|EfEEHE H30 30 A% | R30.12.31 | BEHE |wmervexor| H30.01.01 | H31.01.01 | #K
Al2]0]|0|2|nEfEEHE RO1 30 A% | R31.12.31 | BEFHE |wmervexor| H31.01.01 | R02.01.01 | #K
Al2]0]|0|2|EfEEHE RO3 30 A | R33.12.31 | BEHE |wmersvexor| RO3.01.01 | R0O4.01.01 | #K
Al2]0]|0|2|EfEEHE RO4 30 4 | R34.12.31 | BEFE |wmersvexor| R04.01.01 | R05.01.01 | #K
Al2]0]|0|2|EfREHE RO5 30 4% | R35.12.31 | BEFE |wmervexor| R05.01.01 | R06.01.01 | #K
Al3]0]|0|2|EE2EAM%% RO5 1 % | R06.12.31 | BEHE [wmexvexor| R05.01.01 [ R06.01.01 [ #K
Al3[2]0] 3 |EERERRE RO3 3 4F | R06.12.31 | BEZE |#me=veaor| R03.01.01 | RO4.01.01 | #K
Al3[2]0] 3 |EERERE R04 34F | RO7.12.31 | BEZE |#me=veaob| R04.01.01 | RO5.01.01 | #K
Al3[2]0] 3 |EERERRE RO5 3 4F | R08.12.31 | BEZE |#mm=veaob| R05.01.01 | R06.01.01 | #K
Al4]0] 1|0 |MSFOERMERERE RS EE RO5 1 4% | R06.12.31 | BEFE |wmexveior| R0O5.01.01 [ R06.01.01 [ #E
A[1]0]0]|4|BKBOHE KR OIEFRE HE RO1 5 4F | R06.12.31 | BE3E [wwv—-—%| H31.01.01 | R02.01.01 | ¥ —%
A[1]0]0]|4[|BKBOHE KR OIEFRE HE R0O2 5 4F | R07.12.31 | BE3E [wav—r—%| R02.01.01 | R03.01.01 | ¥ —%
A[1]0]0]|4|BKBOFE KR OIEFRE HE RO3 5 4F | R08.12.31 | BE3E [wav—-—%| R03.01.01 | R04.01.01 | ¥ —%
A[1]0]0]|4|BKBOHE KR OIEFRE HE RO4 54F | R09.12.31 | BE3E [wav—r—%| R04.01.01 | R05.01.01 | ¥ —%
A[1]0]0]|4|BKBOHE KR OIEHRE HE RO5 5 4F | R10.12.31 | BE3E [wav—-—%| R05.01.01 | R06.01.01 | ¥ —%
A|1]0]|0]|5|EhpsiketiE RO1 5 4 | R06.12.31 | BEHE |wev—~—%| H31.01.01 | R02.01.01 | & —%#
A|1]0]0]5|EhpsiketiE RO2 5 4 | R0O7.12.31 | BE#E |w&v—~—%| R02.01.01 | R03.01.01 | ¥ —%#
A|1]0]0]5|EhpsiketiE RO3 5 4 | R08.12.31 | BE#E |wav—~—%| R03.01.01 | R04.01.01 | & —%#
A|1]0]0]5|EhpsiketiE R04 5 4 | R09.12.31 | BEHE |w&v—~—%| R04.01.01 | R05.01.01 | & —%#
A|1]0]|0]5|EBsikedE R05 5 4 | R10.12.31 | BE#E |w&v—~—%| R05.01.01 | R06.01.01 | & —%#
Al 1] 0] 1|4 |%ERE. K& RO1 5 4F | R06.12.31 | BEZE [wev—s—%| H31.01.01 | R02.01.01 | &¥—%
Al 10| 1|4 |5%ERER.fEHAZRE RO2 54F | R07.12.31 | BEZE [wev—s—%| R02.01.01 | R03.01.01 | ¥ —%




Al 10| 1|4 /|5%ERRER- e H AR RO3 54F | R08.12.31 | BEZE |[wwv——%| R03.01.01 | R04.01.01 | &¥—*
Al 10| 1|4 /|5%ERRER- e H AR RO4 54F | R09.12.31 | BEZE |[wwv— —%| R04.01.01 | R05.01.01 | &¥—#
A[1]0]| 1|4 /| kBRI B H AT RO5 5 4F | R10.12.31 | BEZE [w#v——%| R05.01.01 | R06.01.01 | 7—%
Al1]0] 1] 6| FrflBhps e RO1 5 4F | R06.12.31 | BEHE |wirs—s—s| H31.01.01 | R02.01.01 | 5 —%
Al1]0] 1] 6| FrflBhes e R02 5 4F | ROT.12.31 | BEHE |wiv—s—| R02.01.01 | R03.01.01 | 5 —%
Al 1[0 1|6 |FelEh s HKGR RO3 54 | R08.12.31 | BEZE [w#v—s—=| R03.01.01 | R04.01.01 | 7 —%#
Al 1[0 1|6 |FelEh s HKGR RO4 54 | R09.12.31 | BEZE [w#y—s—=| R04.01.01 | R05.01.01 | 7 —%#
Al 1[0 1|6 |FelEh s HKGR RO5 54 | R10.12.31 | BEZE [w#y—s—=| R05.01.01 | R06.01.01 | 7 —%#
B[0]0] 0|1 |ARIAME 30 4F | R13.12.01 | BEZE |wmmscreiot “
B|0|0]0|2|AFI(REA) &R RO3 3 4 | R06.12.31 | BEHE |wsevveior| R03.01.01 | R04.01.01 | #&
B|0]0|0]|2]|AHI(RDHA) AR E R04 3 4F | R07.12.31 | BEZE [wmwveor| RO4.01.01 [ R05.01.01 | %
B|0|0]0|2|AFI(REA) B HI7&GRHE R05 3 4F | R08.12.31 | PEHE |wsevveioh| R05.01.01 | R06.01.01 |  #&
Bl 0| 20| 1 |[AMEFEETIMKEBIRK RO4 [Bl=#tefey 4R Bi% |rmesreior| RO4.01.01 | R04.08.20 | %




. )& RS R
X 7 7 A4 E B #E % e B4
Wz s a0 o alTR e | RO R g | T | TREEI RIS
Alofo|o]|1|ESH HO04 30 4= | R13.12.31 | BE3E [CEAJE H14.01.01 | %
Alofo|o]|1|ESH H06 30 4= | R13.12.31 | BE3E [CEAJE H14.01.01 | %
Alofo|o]|1|ESH H10 30 4= | R13.12.31 | BE3E [CEAJE H14.01.01 | %
Al0|O|0f|1|EmkE H11 30 4 | R13.12.31 | BE#E |CEAH H14.01.01 | %
Al0|O|0f|1|EmkE H12 30 4 | R13.12.31 | BEdE |[CEAH H14.01.01 | %
Al0|0|0f|1|ESkE H13 30 4 | R13.12.31 | BEdE |[CEAH H14.01.01 | %
Al0|O0|0f1|EmkE H14 30 4 | R14.12.31 | BEdE |CEAH H15.01.01 | %
AlO|O|0f|1|ESkE H15 30 4 | R15.12.31 | BEdE |CEAH H16.01.01 | %
Al0|O0|0f1|ESk H16 30 4 | R16.12.31 | BEdE |[CEAH H17.01.01 | %
Alofo|o] 1B H17 30 4F | R17.12.31 | BEHE | CERTE H18.01.01 | &
AlO[O|O]1|IESH H18 30 4F | R18.12.31 | BEIE |wstwrerreasl H19.01.01 | %
AlO[O|O]1|IESH H19 30 A% | R19.12.31 | BEFE |mastrervesoh H20.01.01 | %
AlO[O|O]1|IESH H20 30 A% | R20.12.31 | BEFE |mastrervesoh H21.01.01 | %
AlO|O|O|1|Emk H21 30 A% | R21.12.31 | BEFE |mastrervesoh H22.01.01 | %
Alolo|o]|1|ESH H22 30 4F | R22.12.31 | BEHE |mmtrrociot H23.01.01 | %
Alolo|o]|1|ESH H23 30 4F | R23.12.31 | BEHE |mstwrveiot H24.01.01 | %
Al0[|O0]|0|1|Eakk H24 30 A% | R24.12.31 | BESE |wastrervexor| H24.01.01 | H25.01.01 | #K
Al0[|O0]|0|1|Eakk H26 30 4% | R26.12.31 | BEFE |wastrervexor| H26.01.01 | H27.01.01 | #K
Al0|0]|0]|1|EDR H27 30 47 | R27.12.31 | BEFE |wsstervexor| H27.01.01 | H28.01.01 | #K
Al0|0]|0]1|EDR H30 30 4% | R30.12.31 | BEFE |wstervrexor| H30.01.01 | H31.01.01 | #K
Alofo|o]1|ESH% RO5 30 4E | R35.12.31 | BEFE [wa#waresror| R05.01.01 | R06.01.01 | #%




Al0]0]|0|2 |4 cER S44 30 4= | R13.12.31 | BE3E [CEAJE H14.01.01 | %
Al0]0]0|2 |4 cER S62 30 4= | R13.12.31 | BE3E [CEAJE H14.01.01 | %
Al0|0]|0]2|FEcER HO2 30 4= | R13.12.31 | BE3E [CEAJE H14.01.01 | %
Al0]0]| 0|2 |4 cER HO3 30 4= | R13.12.31 | BE3E [CEAJE H14.01.01 | %
Al0]0]|0|2 |4 cER HO04 30 4= | R13.12.31 | BE3E [CEAJE H14.01.01 | %
A[0]| 0|02 |5 ERR H10 30 4= | R13.12.31 | BEIE [SCEANE H14.01.01 | %
A[0] 0|02 |5 CERR H11 30 4= | R13.12.31 | BEIE [CEANE H14.01.01 | %
A[0] 0|02 |5 CERR H12 30 4= | R13.12.31 | BEIE [CEANE H14.01.01 | %
A[0]| 0|02 |5 ERR H13 30 4= | R13.12.31 | BEIE [SCEANE H14.01.01 | %
A[0]|0]0]|2|FEECERR H14 30 4= | R14.12.31 | BE3E [SCEANE H15.01.01 | %
A[0]|0]0]|2|FEECERR H15 30 4= | R15.12.31 | BEIE [SCEANE H16.01.01 | %
Alo|o|0]2|FECER H16 30 4F | R16.12.31 | BEIE |SCEAJE H17.01.01 | &
Alo|o|0]2|FECER H17 30 4F | R17.12.31 | BEIE |SCEAJE H18.01.01 | &
A[0]|0]|0|2|FEECER H18 30 A% | R18.12.31 | BEFE |mastrervesoh H19.01.01 | %
A[0[0]|0]2|BEECER H19 30 A% | R19.12.31 | BEFE |mastrervesoh H20.01.01 | %
A[0[0]|0]2|BEECER H20 30 A% | R20.12.31 | BEFE |mastrervesoh H21.01.01 | %
Al0]|0]|0]|2|FECER H21 30 4 | R21.12.31 | BE3HE |wstrscac ol H22.01.01 | #&
Al0]0]|0]|2|FEER H22 30 4 | R22.12.31 | BE3E |mstrereoh H23.01.01 | #&
Al0]0]|0]|2|FEER H23 30 4 | R23.12.31 | BEIE |mstrrreioh H24.01.01 | #&
Al0]0]|0]|2|FEER H24 30 4F | R24.12.31 | BEHE |wsstrrrexor| H24.01.01 [ H25.01.01 | #%
Al0]0]|0|2 |5 cER H25 30 4% | R25.12.31 | BEFE |wastrervexor| H25.01.01 | H26.01.01 | #K
Al0]0]|0|2 |5 cER H26 30 4 | R26.12.31 | BEFE |wastwrervexor| H26.01.01 | H27.01.01 | #K
Al0]|0]|0]|2|FEER H27 30 4F | R27.12.31 | BE3E |wsmsvexor| H27.01.01 [ H28.01.01 | #%




A[0]| 0|02 |5 CERR H28 30 4 | R28.12.31 | BEHE |wawervexor| H28.01.01 [ H29.01.01 | #K
A[0]|0]|0]|2|FEECERR H29 30 A | R29.12.31 | BEFHE |watwrervexor| H29.01.01 | H30.01.01 | #K
A[0[0]|0]2|FECER H30 30 4 | R30.12.31 | BEFE |wstwerexor| H30.01.01 | H31.01.01 | #&
A[0] 0|02 |5 ER RO1 30 A% | R31.12.31 | BEFHE [|wawervexor| H31.01.01 | R02.01.01 | #K
A[0] 0|02 |5 ER RO3 30 4 | R33.12.31 | BEFHE |wawrvexor| R03.01.01 | R0O4.01.01 | #K
A[0]| 0|02 |5 ERR RO4 30 4 | R34.12.31 | BEFE |wawervexor| R04.01.01 | R05.01.01 | #K
A[0[0]|0]2|FECER RO5 30 4% | R35.12.31 | BEFE |wstrvrexob| R05.01.01 | R06.01.01 | #K
Al0]1]0]6 |PIimiEs $32 30 4 | R13.12.31 | BEzE |scEffi H14.01.01 | ¢
Al0]1]0]6 |PIimiEs $37 30 4 | R13.12.31 | BEzE |scEffi H14.01.01 | ¢
Al0]1]0] 6 |filklid e 540 30 4 | R13.12.31 | BE3E |ScpE H14.01.01 | &
Al0]1]0]6 |PIHimiEs $42 30 4 | R13.12.31 | BEzE |scEfsi H14.01.01 | ¢
Al0]1]0]6 |pIiimiEs S44 30 4 | R13.12.31 | BEZE |scEfrfi H14.01.01 | &
A 0] 1]0] 6|k S45 30 4 | R13.12.31 | BEZE |Scps H14.01.01 | #&
Al0]1]0]6 |pIiimiEs $46 30 4F | R13.12.31 | BEZE |scEfrsi H14.01.01 | ¢
Al0]1]0]6 |pIiimiEs $47 30 4F | R13.12.31 | BEZE |scEfrsi H14.01.01 | ¢
Al 0] 1]0]6 |k S48 30 4 | R13.12.31 | BE3E |Scps H14.01.01 | #&
Al0]1]0] 6 |BUklisEEs $49 30 4F | R13.12.31 | BEZE |scEfrfi H14.01.01 | &
A 0] 1]0]6|BIRLiEEER S51 30 4 | R13.12.31 | BE3E |Scps H14.01.01 | #&
A 0] 1]0]6|BIRLiEEER $52 30 4 | R13.12.31 | BE3E |Scps H14.01.01 | #&
Al0]1]0] 6 |pUklisEEs $53 30 4F | R13.12.31 | BEZE |scfrfii H14.01.01 | &
A[0|1]|0]6 |fIEmEER S54 30 4F | R13.12.31 | B |SCEAE H14.01.01| %%
A 0] 1]0]6|BIRLiEEER $55 30 45 | R13.12.31 | BE3E |Scps H14.01.01 | #&
A[0]1]0] 6 | klis e $56 30 4F | R13.12.31 | BEsE |scEpfi H14.01.01 | &




A|0|1|0]|6|FIHEER S57 30 47 | R13.12.31 | BE3E [SrERAE H14.01.01 | #%
A[0]|1]|0][6 |fIHlmEEK S58 30 47 | R13.12.31 | BEFE |SCGERTE H14.01.01 | #&
A[0]|1]|0][6 |fIHlmEEK S59 30 4F | R13.12.31 | B |SCERTE H14.01.01 | #&
A[0]|1]|0][6 |flHlmEEK S60 30 47 | R13.12.31 | B |SCGERTE H14.01.01 | #&
A[0]|1]|0][6 |flHlmEEK S61 30 47 | R13.12.31 | B |SCGERTE H14.01.01 | #&
A[0] 1|06 |flHmEH S62 30 4 | R13.12.31 | BE#E |CEAH H14.01.01 | %%
A[0] 1|06 |flHmaEH S63 30 4 | R13.12.31 | BEdE |[CEAH H14.01.01 | %%
A[0]| 1|06 |flHmaEH HO1 30 4 | R13.12.31 | BEdE |[CEAH H14.01.01 | %%
A[0] 1|06 |flHmaEH HO02 30 4 | R13.12.31 | BEdE |CEAH H14.01.01 | %%
A[0] 1|06 |flHmaEH HO03 30 4 | R13.12.31 | BEdE |CEAH H14.01.01 | %%
A[0]| 1|06 |flHmEH HO04 30 4 | R13.12.31 | BEdE |[CEAH H14.01.01 | %%
Al 0| 1] 0] 6 |fHmeER# HO5 30 4F | R13.12.31 | BEIE |CERE H14.01.01 | &
AlO0|1]0]6|fFIHmER HO06 30 4F | R13.12.31 | BESE |SCERTE H14.01.01 | %
AlO0|1]0]6|fIH@EER HO7 30 4F | R13.12.31 | BESE |SCERTE H14.01.01 | %
Al 0| 1] 0] 6 |fHmER# Ho8 30 4F | R13.12.31 | BEIE |CERAE H14.01.01 | &
AlO0|1]0]6|fFIHmER H09 30 4F | R13.12.31 | BESE |SCERTE H14.01.01 | %
A| 0| 1] 0] 6 Bk H10 30 4F | R13.12.31 | BEIE |SCERE H14.01.01 | &
A| 0| 1] 0] 6 Bk H11 30 4F | R13.12.31 | BEIE |SCERJE H14.01.01 | &
A| 0| 1] 0] 6 Bk H12 30 4F | R13.12.31 | BEIE |SCERE H14.01.01 | &
A| 0| 1] 0] 6 Bk H13 30 4F | R13.12.31 | BEIE |SCERE H14.01.01 | &
Al0|1]0]6 |fHmEEH H14 30 4F | R14.12.31 | BESE |SCERTE H15.01.01 | %
A| 0| 1] 0] 6 Bk H15 30 4F | R15.12.31 | BEIE |SCERJE H16.01.01 | &
A| 0| 1] 0] 6 Bk H16 30 4F | R16.12.31 | BEIE |SCEAE H17.01.01 | &




A|0|1|0]|6|FIHEER H17 30 4 | R17.12.31 | BE3E [SCERAE H18.01.01 | #&
A|0|1]|0]6|fIEmEE H18 30 4F | R18.12.31 | BEIE |mstrsrtioh H19.01.01| %%
A|0|1]|0]6 |fIEmEEE H19 30 4F | R19.12.31 | BEZE |mstrsrtioh H20.01.01| %%
A[0] 1|06 |flHmEExH H20 30 A5 | R20.12.31 | BEHE [mastwrerve st H21.01.01| %%
A|0|1]|0]6 |fIEHEEE H21 30 4F | R21.12.31 | BEZE |mstrsrtioh H22.01.01| %%
A[0|1]|0]6|fIEmER H22 30 4F | R22.12.31 | BEZE |mstrrrtioh H23.01.01| %%
A[0|1]|0]6|fIEmER H23 30 4F | R23.12.31 | BEZE |mstrcrtioh H24.01.01| %%
AlO0|1]0]6 | @EER H24 30 4F [ R24.12.31 | BEHE |mstrrvcior| H24.01.01 | H25.01.01 |  #&
A|{0|1]|0]6|fIEmER H25 30 4 | R25.12.31 | BEFE |wsteevexor| H25.01.01 | H26.01.01 | #&
Al0|1]0]6|fFIH@EER H26 30 4F | R26.12.31 | BEHE |mstwrrvciok| H26.01.01 | H27.01.01 |  #&
A|0|1]|0]6|fIEmER H27 30 4F | R27.12.31 | BEFE |wsteevexor| H27.01.01 | H28.01.01 | #&
A[0]| 1|06 |flHEER H28 30 4 | R28.12.31 | BEFHE |watwervexor| H28.01.01 [ H29.01.01 | #K
A[0]| 1|06 |flHEER H29 30 4 | R29.12.31 | BEFHE |watwervexor| H29.01.01 | H30.01.01 | #K
A[0]| 1|06 |flHEER RO3 30 4 | R33.12.31 | BEZHE |wawsrvexor| RO3.01.01 | R0O4.01.01 | #K
A[O0]| 1|07 |fHEER H26 10 4% | R06.12.31 | BEIE [mstxresor| H26.01.01 | H27.01.01 | #%
A[O0]| 1|07 |fHEER H27 10 4% | R07.12.31 | BE3E [wstxvesor| H27.01.01 | H28.01.01 | %
A0 1|07 |BIMEEERR H28 10 4£ | R08.12.31 | BEZHE |wawerveior| H28.01.01 | H29.01.01 |  #&
A0 1|07 |BIHEER H29 10 4% | R09.12.31 | BEFE |mwsterrexor| H29.01.01 | H30.01.01 | #&
A{O[1]|0]7|—MmiEkR RO1 10 A% | R11.12.31 | BEHE [mstervesor| H31.01.01 | R02.01.01 | #K
A[0]|1]0]|8|—fimeEs RO1 54 | R06.12.31 | BEZE [wwtesvrexor| H31.01.01 | R0O2.01.01 | #%
A[0|1]|0|8|—fimER R0O2 54 | R0O7.12.31 | BEZE |watesrexor| R0O2.01.01 | R03.01.01 | A&
A[0| 1|08 | —fimER RO3 54 | R08.12.31 | BEFE |watesrexor| R03.01.01 | R0O4.01.01 | A&
A[O|1]|0]8|—fliER# R04 54 | R09.12.31 | BEZE |wstesrexor| R04.01.01 | R05.01.01 | K




Al0]| 1|09 |k RO4 34F | RO7.12.31 | BEZE |wstsveaor| R04.01.01 | RO5.01.01 | K
Al0]|1]0]|9|—fmEsk RO5 3 4F | R08.12.31 | BEZE |wssvexor| R05.01.01 | R06.01.01 | K
A[O]| 1] 10| —fmEsk RO5 1 % | R06.12.31 | BEHE [m#trrvexor| R05.01.01 [ R06.01.01 [ #K
A[O]| 1] 1|5 |iBEnEH RO1 5 4F | R06.12.31 | BEZE |wstsveaor| H31.01.01 | R02.01.01 | #K
A[O]| 1] 1|5 |iBEnEH R04 5 4F | R09.12.31 | BEZE |wstsveaor| R04.01.01 | RO5.01.01 | #K
A[O0]| 1|16 |iBEn%HH RO3 3 4F | R06.12.31 | BEZE |wstsreaor| R03.01.01 | RO4.01.01 | #K
A[O0]| 1] 1]6 |iBEn%HH RO5 3 4F | R08.12.31 | BEZE |wstrsvrexor| R05.01.01 | R06.01.01 | #K
A[O| 1| 1|7 |@EnSH RO5 1 % | R06.12.31 | BEHE [mstrrvexor| R05.01.01 [ R06.01.01 [ #K
Al 1[0|1]0|HEyE (M EEE) RO1 54 | R06.12.31 | BEIE |wawsrcaor| H31.01.01 | R02.01.01 | &
Al 1[0|1]0|HEyE (M EEE) RO2 54 | RO7.12.31 | BEZE |wawsrcaor| R0O2.01.01 | R03.01.01 | &
Al1[0|1]0|HEE T EEBE) RO3 54 | R08.12.31 | BEZE |w#trxrexor| R03.01.01 [ R04.01.01 [ #K
Al 1[0|1]0|HEyE (HHFEEE) R04 54 | R09.12.31 | BEIE |m#twxrcaor| R04.01.01 | R05.01.01 | &
Al1[0|1]0|HEhfE (&5 E) RO5 54 | R10.12.31 | BEZE |m#wsrcior| R05.01.01 [ R06.01.01 | #%
Al T[0] 1|2 |8k H OIS EBE) RO1 5 4 | R06.12.31 | BEZE [wawrverot| H31.01.01 | R02.01.01 | #K&
Al 1[0 1] 2| KB O (7 E5E) RO2 548 | RO7.12.31 | BEZE |wwserern| RO2.01.01 | RO3.01.01 | %%
A|1[0]1]2[HEKkR DI T ESE) RO3 5 fF | R08.12.31 | BEFE [waterreior| R03.01.01 | R0O4.01.01 | K
Al 10| 1|2 HkB OIRERE (MTEEE) RO4 54 | R09.12.31 | BEZE |wswsresor| R04.01.01 | R05.01.01 | %
A[1]0]1|2[|HIKAOIREE (T EEE) RO5 5 | R10.12.31 | BEZE |wstexrexor| R05.01.01 | R06.01.01 | &
AL O] 1|3 |IRIEE () BB ) RO1 5 4 | R06.12.31 | BEFE [mewervexor| H31.01.01 | R02.01.01 | #&
A 1[0 1]3 |IRIRE (HTEEE) RO2 54F | R07.12.31 | BEFE |wstwxresor| R02.01.01 | R03.01.01 | &%
Al 1[0 1] 3|S5 E) RO3 54 | R08.12.31 | BEZE |mswrciok| R03.01.01 [ R04.01.01 | #%
Al 10| 1|3 |/RIRE (M 725 E) RO4 54F | R09.12.31 | BEFE [mwastrrrexok| R0O4.01.01 | R0O5.01.01 | %
A[1]0] 1|3 IR (M5B E) RO5 54 | R10.12.31 | BEZE |wstesrexor| R05.01.01 | R06.01.01 | K




All 0|1 |[srEsz a4 & RO3 3 4F | R06.12.31 | BEHE [mawsrresor| RO3.01.01 | R04.01.01 | %
All 0|1 |3CEZRRM4 R0O4 3 A | RO7.12.31 | BEFE |wsrsrexok| R04.01.01 [ R0O5.01.01 | #%
All 0|1 |[srEsz a4 & RO5 3 4F | R08.12.31 | BEFE [mwwsrrexor| R05.01.01 | R06.01.01 | &




' RPN E R o EHR AT
£ GR) iGN =
Al0]2]0] 9| IFBLREILRER RO4 34 | R07.12.31 | BEZE [mmsxrewor| R0O4.01.01 | R05.01.01 | #&
A[0]3]0]2|#E - BEERE R05 1 4 | R06.12.31 | BEZFE [mmssveior | R0O5.01.01 | R06.01.01 | #&
Al0|4]|0]|2|&ikEaRE RO5 1 48 | R06.12.31 | FEZE |emsrvexor| RO5.01.01 | R06.01.01 |  #%
A[0] 50| 3| IR H ek R05 1 4 | R06.12.31 | BEZFE [mmssveior | R0O5.01.01 | R06.01.01 | #&
A0 70| 1|55 H i R05 1 4 | R06.12.31 | BEFE [mmssrvesor| R0O5.01.01 | R06.01.01 [ &
Al2]19](0] 1| BB B R05 1 4 | R06.12.31 | BEZFE [mmssveior| R0O5.01.01 | R06.01.01 | #&
Al2(9]0] 4Bl L&k E RO3 3 4F | R06.12.31 | BEHE |mmssvexor| R03.01.01 [ R04.01.01 | #K%
Al2(9]0] 4 |Ferdns RERCEkE RO4 3 4 | R07.12.31 | BEZE |mmswvesor| R04.01.01 | R05.01.01 [ %
Al2(9]0] 4Bl L&k E R05 3 4F | R08.12.31 | BEHE |mmssvexor| R05.01.01 [ R06.01.01 | i
Al2]9](0]5 BRI HImEF TR RO3 3 4F | R06.12.31 | BEHE |mmsxveior| RO3.01.01 | R04.01.01 | #%
Al2[9]0] 5 |BEH~RP ST —BER RO4 3 4 | R07.12.31 | BE3HE |mmssveior [ R04.01.01 | R05.01.01 | #%
Al219]|0] 5 |HEH~RILIREH R RO5 3 4F | R08.12.31 | BEHE |mmsx+eixor| R05.01.01 | R06.01.01 | #%
Al2[9]0]6|EEMNGITRIAEREE RO3 3 4F | R06.12.31 | BE3HE |mmssveixor| RO3.01.01 | R04.01.01 | #%
B|3[0]|0] 1[5 REFLEkTE RO3 3 4F | R06.12.31 | JFEHE |mmrsrveior | RO3.01.01 | R04.01.01 [ #&%
B[3|0] 0] 1 [iKEhk Rk E RO4 3 4 | R07.12.31 | BE3HE |mmssveixor| R04.01.01 | R0O5.01.01 | #%
B|3[0]|0] 1[5 REFLEkTE R05 3 4F | R08.12.31 | JEHE |mmsrveior| R05.01.01 | R06.01.01 [ #&%
B3| 1|0] I [FA&R K= RO3 34| R06.12.31 | PEFE |mmssresor| R03.01.01 | RO4.01.01 [ %
B3| 1[0] 1 [FA&ERRHREE R04 3 4F | RO7.12.31 | BEFE |mmssreaor| R0O4.01.01 [ R05.01.01 | #K
B3| 1|0] I [FA&R K= R05 34| R08.12.31 | PEFE |mmssresor| R05.01.01 | R06.01.01 [ %




N )& TR T
LR AR AR % () NEREAR A
Wz s a0 o alTR e | RO R g | T | TREEI RIS
Alo|o|o] 1Bk H16 30 4E | R16.12.31 | BEZE [asmznscronn H17.01.01 | %
A[O|1]0| 1 |AJTEXBEER H24 30 A | R24.12.31 | BEFE |pmznssvwor| H24.01.01 | H25.01.01 | #K
A[O|1]0| 1 |AJTEXBEER H26 30 A | R26.12.31 | BEFHE |pmznssvewor| H26.01.01 | H27.01.01 | #K
A[O| 1|01 |ATFEX#EER H27 30 4 | R27.12.31 | BEFE |pmznssvewor| H27.01.01 | H28.01.01 | #K
A[0| 1|02 |ATFEXiBEER H26 10 4F | R06.12.31 | BEIE [sw=rzvvowr| H26.01.01 | H27.01.01 | #&
A[0|1]0[|2|ATFEXiBEER H27 10 4F | R07.12.31 | BE3E |pwsrzvvorr| H27.01.01 | H28.01.01 | &
A[0]| 1|02 AT X BEER H30 10 4F | R10.12.31 | BEIE [pw=rzvvoer| H30.01.01 | H31.01.01 | &
Al0[4]|0] 1 |=iERERE RO3 3 4F | R06.12.31 | BEZE |pzznsvveer| R03.01.01 | RO4.01.01 | #K
Al0[4]|0] 1 |=iERERE R04 34F | RO7.12.31 | BEZE |pzensvveer| R04.01.01 | RO5.01.01 | #K
Al0[4]|0] 1 |=iEREREE RO5 3 4F | R08.12.31 | BEZE |pwznzxverr| R05.01.01 | R06.01.01 | #
A|0[5|0] 3 |l H s RO5 1 % | R06.12.31 | BEHE [smzazsrewor| R05.01.01 [ R06.01.01 [ #K
AlO| 701|555 Pk R05 1 % | R06.12.31 | BEHE [smzazsrewor| R05.01.01 [ R06.01.01 [ #K
A[0[9]|0] 1 | EEILER H13 30 A | R13.12.31 | BEFE |pwznzsvcior H14.01.01 | %
A[0[9]|0] 1 | EEILER H14 30 A | R14.12.31 | BEFE |pwznsevcior H15.01.01 | %




